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QUESTION 1
Which of the following are goals of the Service Reusability design principle? Select the correct answer.
A. To support the creation of services based upon agnostic service logic.

B. To allow for service logic to be repeatedly leveraged over time so as to achieve an increasingly high return on the
initial investment of delivering the service.

C. To increase organizational agility by enabling wide-scale service composition from service inventories that contains a
high percentage of reusable services.

D. All of the above.

Correct Answer: D

QUESTION 2

Besides the Standardized Service Contract principle, which of the following service- orientation principles are also
primarily focused on the design of the service contract? SELECT ALL THAT APPLY

A. Service Autonomy

B. Service Statelessness
C. Service Discoverability
D. Service Abstraction

Correct Answer: CD

QUESTION 3
Which of the following statements is true? Select the correct answer.
A. A composition initiator must exist as a service.

B. A composition initiator can be any type of program capable of invoking a service and therefore does not need to be
service-oriented.

C. A composition initiator is often associated with the intermediary role.
D. None of the above statements are true.

Correct Answer: B

QUESTION 4

Project Team A delivered 3 services and a month later Project Team B delivered 5 services. After an audit of the
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services delivered by these two project teams, it was determined that 3 of the services delivered by Project Team B
contained redundant logic that already resides in 2 of the services originally delivered by Project Team A. The audit
results are negative because it is considered undesirable to have redundant logic among services. Which service-
orientation principle could have been applied to help avoid this result? Select the correct answer.

A. Service Statelessness

B. Service Reusability

C. Standardized Service Contract

D. Service Abstraction

Correct Answer: B

QUESTION 5

The principle is primarily concerned with ensuring that services exercise a high level of control
over their underlying runtime execution environment. Select the correct answer.

A. Service Performance
B. Service Autonomy
C. Service Agility

D. Service Abstraction

Correct Answer: B
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